MOUNTING CHANNEL MOUNTING CHANNEL 2 Ay
F\ F o '
‘ a4
: . 2
LAG BOLT _ A
ANCHOR A a
3/8" WASHER 3/8" WASHER S i

MOUNTING CHANNEL INSTALLATION FOR SOFT (WOOD) WALLS MOUNTING CHANNEL INSTALLATION FOR CONCRETE WALLS

ANCHORING METHODS FOR RECOMMENDED MOUNTING KIT A.S.D.I. PART NO. 80885

1)

175.3
[6.90]

3/4” CONDUIT BOX

NOTES

1) POSITION VAPORIZER HORIZONTAL ON VERTICAL WALL AS SHOWN.

TO MAINTAIN NEMA 3R ENCLOSURE RATING
2) ELECTRICAL: 120V/220V/240V VAC, 1PH, 50/60HZ, 3,27/4,68/4,68 KW
3) DIMENSIONS SHOWN; MM [INCHES]

SQUARE WASHER

3/8" LOCKING
NUT \

3/8" FENDER WASHER
PROVIDED WITH VAPORIZER
MUST BE USED

MOUNTING CHANNEL \

3/8"MOUNTING STUD
W/SPRING

©ligassiL

0 N.W. 46th St., Seattle, Washington. }IJSA 98107

Loy (206) 789-5410 Fax: (206) 789-5414

ZIMMER ELECTRIC
LP—GAS VAPORIZER
MOUNTING DETAILS

orom B G. ROPPE bte  9—5-02

— = NonE 0901- 8002
i *eMe A S.D.l. STD.

This drawing is the property of AlgaseSDI . No.

and is not to be reproduced nor used in any

manner detrimental to our interests. All Part Number C 1 of 1 B

rights are reserve




